06 03 01

G )
2
Ic Ic
7,115 | 7,115| 0| 0| 0
H25 H31 H33
32,600
32600 32600 32600
69,877
69877 69877 69877

H29




H29 |H30 [H31 [Ro2 [R03

A11-001 L=0.7km [ I B A B | 600
A11-002 L=1.1km [ I B B BN 3,282
A11-003 L=1.3km [ I B A B | 533
A11-004 L=0.2km [ I 160
A11-005 L=1.2km [ I B A B | 735
A11-006 L=0.8km [ I B A B | 700




H29 |H30 [H31 [Ro2 [R03

A11-007 L=1.8km [ I B A B | 900
A11-008 L=0.4km u 20
A11-009 L=0.4km u 25
A11-010 L=0.4km u 15
A11-011 L=0.2km u 34
A11-012 L=0.5km u 15




H29 |H30 [H31 [Ro2 [R03

A11-013 L=0.6km n 40
Al11-014 L=0.8km n 41
A11-015 L=0.5km n 15

[T T 11 v

7,115|




H29 H30 H31 RO2 RO3
@ 286 437 435 309 288
() 0 0 0 0 0
(c=atb) 286 437 435 309 288
@ 0 0 152 217 359
©) 171 285 370 167 486
) 115 152 217 359 161
@ 0 41 145 180 83
(h = ct+d-e-f) 0 0 0 0 0
(i = (g+h)/(c+d)) 0 9.38 24.7 34.22 12.82
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